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AINFN MG B RT3 | RO 15,928 |15 = R Z Dl 19,910 | fkfee
CREUH T W JIAER [ SO K R4 ~ R7
B A IRATD
1 (1) 7 & 14 306, 981
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1 WCBT 2R 1 05GOBEIC LY Z0EkER E L@ AR N LT &
ﬂ+

)G e A N o i
Sk Hh |%ﬂ@& BRI | %@@m|$%+ )| = il
FM) (m) HAL i E¥=a [
AeifE 74,538 [ EERR ks B SR RELC 248,461 A
LN H ZFER ML 1% % figk o R7 ~ R8
A
L1 74, 538
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1 MRz 3
(2) (1) W3 LSO &R o ) )
() Mgk DPhflEe ) ESR S 2 B 2NN D L BRI, FHIPNASICEUE L il LT D
X 4| HEERH HEEE EEIDE RIEIELE | EdEhEEE (TH) R
) (G (nf) Bt w1 B AT e
<>
[BLf AL ] _
Wi BITE AR 1,283, 828 [ (EVAH) Tt 5% O A 1,344,963 | #kise
HiE X S-2 113 R5 ~ R7
I S-1 329
16, 380 |Ffrmkadsss 400 |HtEg% D Ao 360, 360 B
RC-2 R7 ~ R9
51,305 [ S-1 20 g% DR 51, 305 B
R7
(LR P ]
O KR AR, 0 [HTPARC 15,000 |#F5 8,000,000 | #FA
R T RC-5 PN R7 ~ R11
H RC-1 30 (B [EEEAET)
145,530 [*24E2fF RC-3 3,500 [&H 1,600, 830 | ke
R5 ~ R7
659, 379 |44 13,000 |[fiz% DA~ 5,671,038 | fkfe
RC-4 R3 ~ R7
B RC-1 30
3,083,968 |FLT2AEB (IVH]) =1 8,325,475 | Mkt
RC-5 17,396 |4y R3 ~ R7
H RC-1 30
148, 720 [F&EHE= RC-1 100 |fs% DA 364, 650 | fkise
R5 ~ R7
(Bt AL R
Bt =R R AL WER 3,260,309 |%#/EfE4 RC-8 7,000 [&H 5,720,997 | fkfse
iR R5 ~ R9
L& A ]
KI@IET R 490, 773 |&E%E RC-1 200 |EF 959, 106 | e
5 U ABTH R6 ~ RS
NS
HEPN 53 it dbiEE 241, 373 |J@4 RC-2 600 |HtEg% DA 1,205,039 | #kfe
FEABIEET HER T T RC-1 40 R4 ~ R8
LAy i dbigiE 630, 329 |Jm4r RC-1 200 [tk DR 893,611 | kit
ALSCER R5 ~ R7
#LCHT
4 FrBE AL AbifgE 176, 379 2,220, 167 | #rA
4 %51 R7 ~ R9
25, 863 386,275 | A
R7 ~ R9
614,565 [B%/74 RC-5 11,252 [#H 1,379,277 | fkise
H s-1 236 R6 ~ R10
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Mifg-4 / 33

X | Bk Bl N A FHEEEE [ 2AEtmEE (TH) )
+F IH Fm) (nf) _ gt T BRAE T e
3,579,554 |15 RC-6 5,945 |liti% O A 7,153,359 | ke
15 RC-5 6, 550 R5 ~ R8
15 RC-4 2,153
M= RC-1 59
Shobf 229
B AL L bigiE 463, 638 |BX/T4 RC-5 6,039 B SRKHERELC 3,231,286 | ke
Bt % RC-1 22 |1R D Hi% D R6 ~ R8
B s-1 127 |
{EZFT RC-1 114
JB 11 EF: i Hh dbiEE 797,691 [T RC-5 9,719 B KHERELC 4,520, 368 | ket
JEJI T 1% % Mgk o R5 ~ RS
A
38, 557 848,252 | A
R7 ~ R9
JEL) I Pt AbvfEE 14,123 195,081 | %A
ina=i -t S JEJI T R7 ~ R8
E B EPEE bigiE 927,551 |/F RC-5 8,238 B SKHEREIC 4,732,574 | ke
ZEFNER HS-1 28 |£% B ik @ R5 ~ R8
s REHT H s-1 70 [
1,032, 639 {5 1, 378 [Jitis% D A 1,213,069 | #kfe
RC-2 (—#BS-1) R6 ~ R7
A RC-1 24
A RC-1 12
19, 378 213,157 | A
R7 ~ R8
A R HY AeitgrE 510, 078 |/¥ RC-3 4,155 [#F 2,493,715 | ki
E=3 TN T RC-1 78 R5 ~ R8
I RC-1 78
B s-1 39
TEBRETE it dbigiE 147,810 [A& s-3 2,400 [&+5 1,137,460 | fkie
AL T R6 ~ RS
HX
28, 497 447,543 | KFA
R7 ~ R9
LY IN AN dbigiE 151,581 [A S-1 897 [ftiz% DA 944, 723 | ki
LN R6 ~ R8
AT T i dbiEE 355, 729 |/¥ RC-3 4,605 |BhRHERELC 2,908, 878 | ket
apET H s-1 98 |#R Btk D R6 ~ R8
A
1,984,996 |#fwdy 2, 783 |Jitig% > Ak 1,994,776 | ke
S-1(—¥RC-2) R6 ~ R7
A RC-1 20
28, 098 436,997 | B A
R7 ~ R9
33,782 608, 111 | A
R7 ~ R9
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HER Bl N A FH I E EigE (TH) )
+IH (FED] (nf - T i) XA T e
B PN L dbiEE 483,497 |B&/T74 RC-5 5,409 |BhSBEREIC 3,352,546 | kit
AL T RC-1 115 |5 fitiak o R6 ~ R9
X H S-1 52 | R
238, 765 3,683,363 | A
R7 ~ R11
47,791 746,783 | KA
R7 ~ R8
SR L A dbigiE 104, 027 1,837,506 | KFA
TFkfi R7 ~ R9
68, 844 898,191 | #FA
R7 ~ R8
368, 496 | RC-2 2,582 |BhSFEREIC 1,801,537 | fkie
H s-1 RIVN FEY i 4) R5 ~ R8
N
88, 521 1,679,338 | A
R7 ~ R9
65, 947 1,146,056 | FFA
R7 ~ R9
189, 992 3,663,875 | A
R7 ~ R9
257, 246 5,042,092 | A
R7 ~ R9
297, 632 2,693,067 | A
R7 ~ R8
55, 944 55,944 | HrA
R7
1,759,958 [f5 RC-5 4,700 [Hiz% DA 4,101, 977 | Hkfee
15 RC-4 2,900 R4 ~ R8
B s-1 60
2FTF RC-1 100
A1518 210
B0 22 B i dbiEE 512,813 [B&/T4 RC-4 5,742 B SBEREIC 3,301, 333 | ket
- AR P RC-1 36 |£R DD R6 ~ R9
BN ZZNT I RC-1 43 | R
H S-1 45
34, 301 441,714 | A
R7 ~ R8
BN EE LY dbiEE 22,332 [A& s-1 375 |htg% DA 532,860 | kit
H & ER R6 ~ R8
HEOTE T

—219—



MifE-6 / 33

X | Bk Bl N A FHEEEE [ 2AEtmEE (TH) )
+FIH Fm) (o) | g m T i BRAE il
T AR AR 134,076 [& s-1 66 |Jitiz% DA 140, 423 | #kise
R R6 ~ R7
218,683 |& S-1 5,582 |#F 1,366, 086 | ki
R6 ~ R8
BLATEE AR 144,911 [#FEBR RC-1 122 [fiia% D A 191,564 | #kise
GINGIN R6 ~ R7
JUABETLHE ARG 416,239 |#&fwH S-1 600 |[fitEss DA 467,126 | ke
ARl R5 ~ R7
HiR 353,610 [&fFF S-1 207 |EF 437,119 | ki
AVENSE i S T S-1 40 R6 ~ R7
N FRe T S-1 40
T S-1 18
214,841 |EHAH S-1 296 |&H5 214,841 | #kfse
) R6 ~ R7
(B [EEEAET)
259,784 |& S-2 8,436 & 1,620,332 | #kise
& S-2 8, 436 R6 ~ R8
983, 454 990, 271 | A
R6 ~ R7
A TEE LI AP 107,800 [#3% RC-2 1,062 [&F 672,360 | ki
R R6 ~ R8
76, 342 839,763 | A
R7 ~ R8
K FNEE b BRI 41,582 [A RC-1 1,300 [Jitis% A 588,695 | ket
AR £ RC-1 12 R6 ~ R7
KFnmET
472,086 |/ RC—4 5,919 |BhSpEREIC 2,936,016 | #kfe
H s-1 46 |f% 2 Mgk D R6 ~ R9
N
391, 586 My RC-1 216 & 415,521 | Mk
T S-1 180 R6 ~ R7
il 5 B v R 165,679 [& S-1 5,600 |#F5 2,072,366 | ke
& R6 ~ R10
EYREFIX
75 H BEfLHh B R 266, 784 [H&AHHE S-1 2,655 |tk DA 858, 247 | ket
(= £ s-1 134 R6 ~ R8
FRX
T G M A 135,974 1,495,721 | FFA
HARTH R7 ~ R8
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X | Bk Bl N A RIS [ 2AEmEgE (TH) = S,
E i (T (uf) gt om T BRAE T e
e o 5 L A A8 Jo Rk 328,977 |B¥IT4& 4,500 B SRHERELC 2,910, 313 | ke
(= RC-4-1 XY 542 R6 ~ R8
A
FE RS SR A A TG IR 126,306 [& S-1 550 |fiti% D A 782,262 | fHE
AL AL R6 ~ R8
R AT
BT B RS I 362, 675 |/7 RC-4 4,680 |BhRHERELC 3,478,540 | ket
el T A RC-1 15 |£R 5 HRE D R6 ~ R8
H s-1 50 | i
o S E A HOLA 702,223 |FRIT4& RC-4 9,400 B KFEREIC 5, 688,986 | kit
TR X 1% 2 ftizk o> R6 ~ R8
N
= rEEEL i HURUAR 565, 708 |J7 RC-5-1 10,900 |BhSBEREIC 3,405,571 | fkfet
A X H s-1 20 |£R D %D R6 ~ R8
A
YNGRV SR Az 5 54, 244 4,056,885 [ FEA
R T R7 ~ R8
R EY o)IE 285,363 |& S-3 5,450 & 2,710,396 | ke
AR a7 DA R6 ~ R8
SF LB E LA IR 57, 086 1,015,403 | #A
AR R7 ~ R9
SELX
91,979 1,807, 791 B
R7 ~ R9
B S I v 1 =FIE 2,155,298 (/7 RC-4 6,184 [#45 2,663,851 | fkfe
e H S-1 20 R5 ~ R7
B s-1 20
86, 552 |3 RC-2 776 |EH 663, 176 | ki
R6 ~ R8
AL W B 14,399 |¥&5 RC-1 69 |htisk DA 84, 442 | Hkfee
=0 R6 ~ RS
KRB L B UL 192, 192 [B%JT4& RC-5 6, 158 [&H 2,566, 119 | ki
Keifi R5 ~ R7
305,999 [¥rYs RC-1 147 [Hiz% DA 351,650 | ke
(L) R6 ~ R7
51, 190 877,714 | KA
R7 ~ R9
J\REETHE PN 683, 896 | HJE 3,900 [ftik o> A1 2,208,776 | fkfse
J\ETT S—4 (—#FRC) R4 ~ R8
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HER Bl N A FH I E FHEEH (TH) )
+IH Fm) (md gt om T BRAE T e
J1I 76 B v A 52,999 |EfEAT RC-1 47 |EH 67,399 | ke
JIVE T R6 ~ R7
Y T NI 816, 330 |/ RC—4 5,893 [&H 5,281,244 | ke
il #HEHE RC-1 169 R6 ~ R8
i FE T HL RC-1 59
242,294 |B&/74 RC-3 3,054 [Fked\ 1,750, 688 | #kise
R6 ~ R8
1,517,973 [f5 RC-8 3,352 |Miax DA 2,023,964 | fkfoe
H s-1 103 R5 ~ R7
39, 267 431,938 | A
R7 ~ R8
Ao (LB E LA Tl 364, 256 |& S-1 652 [fitax DA 571,979 | ke
LT R5 ~ R7
85, 970 1,891,346 | HA
R7 ~ R10
' 07 57 i Hi e [ B 67,014 [{E3ERT RC-1 12 [fia% DA 105, 452 | ke
I R6 ~ R7
IEAEX
INEBIE LA et [ U 146, 332 [T RC-4 4,057 [BSpkREIC 2,958,950 | ket
/NER T H s-1 98 |#R Btk D R6 ~ R10
H s-1 49 [ fi
B s-1 34
H s-1 59
CRE K BE LY e [ B 380,585 & S-1 572 ik o i 434,599 | fkii
YN:E S R6 ~ R7
Fl 225U i i VEg IR 105,392 [/ RC-4 7,986 |#F 4,702,951 | ki
AR R5 ~ R8
E W AT
R P 4,148, 568 [K& A 5,500 |F&tE =R 8,297,136 | ke
Perg S+RC-1 R5 ~ R7
4,587, 229 |F& 6, 100 |BEMEHTRR 9,174,459 | ki
S+RC-1 R5 ~ R7
6,178, 686 |H:fp1E 8,300 |HEREHx 12,357,373 | #kfi
S+RC-1 R5 ~ R7
144, 758 [®fiish RC-1 500 |BtEBTR 289,517 | ket
R5 ~ R7
3,177,275 [B%T4& RC-8 19,000 [ksHEHTRY 6,354, 550 | ke
R5 ~ R7
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HER Bl N A srEigL [ ekEtmgE (TH) )
+F IH Fm) (nf _ gt T Vi T e
142, 688 & ELBRE RC-2 800 Mg 285,376 | kit
R5 ~ R7
104, 112 [R4 RC-1 300 [HAEHrak 208, 224 | ke
R5 ~ R7
2,921 [MEHT RC-1 10 | Bt 5,842 | ke
R5 ~ R7
16, 071 | PRRR RC-1 20 |BERSHTRR 32, 143 |
R5 ~ R7
8,035 [MEFT RC-1 10 |BtE R 16,070 | ke
R5 ~ R7
8,386 A RC-1 40 |FEREHTRR 16,773 | fkfe
R5 ~ R7
16,547 & RC-1 70 |BEREHTRR 33,094 | ke
R5 ~ R7
84,102 |TE¥ERT S-1 70 |BERSHTRR 168, 204 | #kise
E3EFT S-1 130 R5 ~ R7
FETHTIE LR Rk} I 2, 144, 649 [B%fT4 RC-5 7,764 |k O A 3,299,460 | kit
Pttt pR H Ss-1 40 R5 ~ R7
1,457,352 [& s—2 5,795 |Miiak DA 1,812,857 | ki
R5 ~ R7
AR B Ll Rk} IR 347, 353 |[fEZEAT RC-1 93 [Jiti g% DA 477,232 | fkfe
KiSihi R5 ~ R7
112,199 [HTJREE RC-1 191 [htiz% D> A~ 695, 520 | #kise
NP RC-1 191 R6 ~ R8
[Pk RC-1 191
B RC-1 191
41618 672
G At BERE NG 187, 753 2, 065, 282 B
AT R7 ~ R8
EAEREE it Koy & 194, 891 [F# = RC-1 50 [&45 964, 963 | ke
EATRER PR S-1 239 | Kk oA R5 ~ R8
EAERHT
897,934 |#&fiish 1,800 [Jitis% > A~ 1,121,215 | #kfe
S+RC-1 R5 ~ R7
£ RC-1 48
K4y BE L Koy & 884, 460 |H7JEk/E RC-1 560 [}tk D 1,360, 708 | kit
Koy TEZEPT S-1 64 R5 ~ R7
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X | Bk Bl N A FHEEEE [ 2AEtmEE (TH) )
+F IH Fm) (nf 7 Bt o T i BRAE T e
446, 404 |7 RC-1 438 |k D A 601,387 | kit
EZERT S-1 64 R5 ~ R7
Z DB Y IR 364, 755 MYy StRC-1 1, 754 |fuak DA 1,240,042 | fkie
Z OO IPREE RC-1 48 R6 ~ R8
ER G T I 180, 060 69, 335,310 | #FA
Fhih R7 ~ RI10
WA PN 4 T b JE e U 1,777,044 [HpeiE RC-1 1,011 |Fetsarax 2,733,913 | fkfe
KEER FéhEE RC-1 20 R5 ~ R7
W PSHT
1,777,044 [dpReE RC-1 1,011 |BEtEHTR 2,733,913 | ki
Ft s RC-1 20 R5 ~ R7
P58 ) L TR I 746,724 |B& RC-1 242 | it 53 o> i 789, 312 | Mkt
) HEM A RC-1 20 R6 ~ R7
EFRRE RC-1 40
237,396 |& RC-3 2,226 |HEg% DA 833,909 | ket
R6 ~ R8
AN B TR I 1,740,086 [BX/T4F RC-5 4,269 sk DR 2,562,438 | fkfse
ARF T H RC-1 12 R5 ~ R7
B RC-1 12
780, 379 2,562,438 | A
R7 ~ R9
780, 379 2,562,438 | A
R7 ~ R9
I PR 1,409,832 [ RC-2 1,041 [Jitisk DA 2,183,980 | kit
Tl A A R5 ~ R7
A S v TR I 1, 346, 506 |Fll#isy RC-1 9,208 |HEHEHTRR 5,922, 779 | #kfe
LT R5 ~ R8
L¥fE_E E 0% ]
PR A B E[R3E 267,551 |BXIT4r - i 2,229,594 | ki
FARIAD R6 ~ R10
LN
RS HAR 519,430 [k RC-1 400 |HtEg% D Ao 1,553,964 | kst
oot KK RC-1 400 R4 ~ R7
b= RC-1 30
611,363 & 672,499 | fkii
R6 ~ R7
I\ T T 2E 3 H AR 89, 306 |4 1,964,729 | ¥ A
VANt R7 ~ R9
A
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X | Bk Bl N A FrEELE  [efEtmEgE (TH) )
+F IH Fm) (uf) g m T i BRAE il
255, 664 |F&HhJE 5,624,599 [ #A
R7 ~ R9
3 e
b
fiF L 22 HH THER 410, 764 |Hfigd S-1 600 |HtEg% DA 451,840 | ke
L7 RS~ R7
199, 839 [EIR= 976,989 | ki
R6 ~ R8
i 2% T 2 Lt HOLAR 283, 700 [B5& 1,323,678 | fkise
INE RS R6 ~ RS
198, 898 [#fiits 909, 092 | ki
R6 ~ R8
43,379 & 954,342 | HrA
R7 ~ R9
RAZE SL o IS 4,701,092 [/t SRC-5-1 22,000 [fiia% D A1 16,197,993 | fkfee
MaE R5 ~ R9
892, 216 |47 & Miz% RC-4 T 7% D A 3,405, 002 | ki
5, 400 R5 ~ R7
4,576,734 |& 4,924, 407 | ki
A5 R6 ~ R7
bl
JE A2 FE P 197,784 [FEMgE= 966, 943 | fkii
FEWATH R6 ~ R7
171, 607 ®fiiss 1,887,677 | B A
R7 ~ R8
26,392 [{E3= 290,311 | 4FA
R7 ~ R8
75, 781 | M b RCHEFR T 1,667,191 | #rA
R7 ~ R9
TR L HY TSI 325,392 |IT 7,158,622 | A
BEESTH R7 ~ RI0
HIL N1 213,453 |IT 4,695,955 | #FA
=i R7 ~ R9
e ETZE F M [ITE):Y 195,056 | & 4,291,224 | A
A E R7 ~ R9
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BiE-12 / 33

X | Bk Bl N A FHEEEE [ 2AEtmEE (TH) )
& IH Fm) (uf) gt om T BRAE L
Ve LRI Hh R bk 142, 842 [FH= - HEME 1,187,226 | fke
Pttt pR R6 ~ R8
77,504 |FSEEAEE 852, 543 | fkii
R6 ~ R7
332,857 |IF 7,322,857 | #FA
R7 ~ R10
JEE R A 22 H JEE I ey U 146, 801 |Zfir 2,061,691 | fkfse
REEETH R6 ~ RS
68, 144 [k 1,499, 172 | ke |SF0 6 4R R L E
= R6 ~ R8 FAGH M BIHE
(F5A)
15, 714 | k3R 172,852 | ket | SFn 6 AEFEEE RE
R6 ~ R8 FAGE R BIHE
(5 A)
FRFL 22 T+ TP 5,773,306 |H#AE S-1 14, 000 |} DA 7,419, 454 | fkfe
AT R5 ~ R7
UbZe F fiB% ] i
Tk KLt AbiE 75, 636 | Al it 5% 1,682,016] #FA
Tk i R7 ~ R9
0 |tk A 2,214,620 | fkei |50 6 AR ALE
R6 ~ R9 FAGE R BIHE
(5 A)
63, 945K (75— 1,406,790 B
R7 ~ R10
HEPN oy L Hb dbigiE 191, 441 [FF 4,211, 696 B
HEWNTH 73 R7 ~ R10
TERE T
VERE T
Ry oy ikt AbiE 48, 046 [#&fis 1, 058, 981 B
b= TG JEE R7 ~ R9
RAR0T
=R ARG 252, 655 | 5,380, 437 | ke
=R R6 ~ R8
139,959 (/& 462,619 | fkfse
R6 ~ R7
34, 227 |Bxé 394, 804 | ki
R6 ~ R8
32, 739 [Kb= 999,902 | ket
R6 ~ R8
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X | Bk Bl N A RIS [ 2AEmEgE (TH) = S,
+F IH Fm) (uf) gt om T BRAE L
97,706 [#&HHIE 2,149,560 | ¥A
K7 R7 ~ R10
Ky iz ARG 1,872 |H®& 27,941 | #A
[Tt R7 ~ R8
L1 R 4y T B AP 1,872 [H 27,941 | #:A
TEAGER R7 ~ R8
L1 T
0 [/m 1,379,371 | ks
R6 ~ R10
RS ER 56, 032 (%2 1,232,714 B
W BT EHE= R7 ~ RI10
B
H
TIN5y v s b B U 1,872 |&# 27,941 | ¥A
B RET R7 ~ R8
RIEAR L7y i IEH [ = IR 10, 569 |Z AT 242,300 | HFA
MIERR R7 ~ R9
JINF
1,872 |#& 27,941 | #¥A
R7 ~ R8
[EERIST AU 256, 548 |#4ApHE RC-1 3,000 & 10, 316, 576 | ki
INEET R3 ~ R9
131,409 [4&HHE 2,908,702 | #rA
R7 ~ R10
19, 644 |HEIRIEZERT 432, 180 C
TG e R7 ~ R10
NGBS e 150,909 (/7 3,339,220 | #rA
el R7 ~ R9
45, 113 [T 998,863 | HFA
2=y MR R7 ~ R9
B
5,396 | 72,550 | FFA
R7 ~ R8
90, 602 184 1,993,250 [ A
VHI5 AL R7 ~ RI10
B s
REA FEHh B ER 51,099 [f (7-== 569, 781 | KA
RERTH R7 ~ R8
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X R Bl ECA] FHmEE (FHM) = S,
& IH i Fm) 1) g m T i BT B gl @ OTH
Ze i 11143 v Hy THER 10, 569 |ZAHT 238, 467 C
)= R7 ~ R9
L HOLA 356, 604 |IT 3,953,705 | HFA
/ST R7 ~ R9
IV b A1 36, 400 [F&fis 418, 500 A
/AT R7 ~ R8
ity B3 55 el . I 86, 259 [T 1,962,496 | A
BHBIRT KB R7 ~ R9
KIE
K FE
AR A 650, 095 [R5 1,843,269 | fkie |SF06 4FE R R E
kAT R6 ~ R7 FAGH M BIHE
g X (F5A)
200, 010 [B5& 4, 400, 220 B
[ R7 ~ RI0
H
B
Fr e I ] UL 51,527 |fifaALE 1,142,050 | A
B R7 ~ R9
AL 4y L RS A =R 1,872 |&® 27,941 | ¥A
HET R7 ~ R8
% 4 W3 L L H AR 1,872 |# 27,941 | #A
AT R7 ~ R8
0 [/m 455,968 | ke
R6 ~ R9
LR JSEUR 799, 266 |FHIE 6, 500 7,447,145 | fkfe
Feukth S+RC-1 R5 ~ R7
B RC-1 20
18,302 |fm& 366, 030 C
e R7 ~ R9
TR A
36, 676 [F&fiHs 799, 296 C
T R7 ~ R9
e B 1Ly T R R 1,872 |& 27,941 | #A
AT R7 ~ R8
5 RF AL 3 ITEN 313,404 [B5& 5,610,685 | kit
BhfF T BEE R7 ~ R8
=BT
w5
105, 268 [T 3,221, 264 | ke
EIRE R6 ~ RS
TR A
B
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X | Bk Bl N A FHEEEE [ 2AEtmEE (TH) )
+F IH Fm) (nf) gt om T BRAE L
131, 722 |#sb4 ik 1,476,118 | A
R7 ~ R8
TR R | 4,765 |KIKJE 54,851 | HFA
RN R7 ~ R8
ER RS et [ U 19, 545 |GIfffitaz 1,393,908 | ¥ A
48 A R7 ~ R9
i
434,000 |FF 13,572,083 | fkfet |40 6 4R ALE
R2 ~ R7 FAGHE R BIHE
(c)
225, 273 |2k RR i F e ax 4,971,438 | ¥ A
R7 ~ R10
59, 278 [y 2,872, 745 C
R7 ~ R9
200, 455 |FIEhER% 4, 410, 000 C
R7 ~ R10
181,572 [A&HNEE 3,994, 570 C
TR e R7 ~ RI0
TR A
B
JS=E 8 et ] U 76,076 | % W2 R 872,018 C
R R7 ~ R8
J=P=ig
B e [ B 118,077 [B% 2,607,906 | #:A
FHM B R7 ~ R9
9,511 |KIKJE 108, 986 B
P& 35 R7 ~ R8
46, 639 [Z4&HT 520, 017 A
Wy R7 ~ R8
H
KL 4y v L Rk} IR 48, 123 |ZfpT 538,625 [ A
BNt Wk V77 = R7 ~ R8
B
1,999 & 29,328 | HFA
R7 ~ R8
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